2 h(x) =5x* —7x 2x +12x 18 whenx—-l
s -1 e ot

r(x)==6x 4w =3x -

' ‘nnal fum:uon

1t (x —6x +l)(2x _7ily

?——thS'—rafax‘*—*—x ~%2 \




12, (x-4)(x-3)(x—2) 13. (4a-50"
X 3-Ax 2+ Slox — 24  ea?-40ab+95b7

Find the greatest common factor of the following:

14, 4x’ —20x* ~30x 15. —5ab’ +154%*
Lx | : ...-5&‘0?

Factor the following completely: _ _ o | . .

16. x*+2x*-15 17. 2)°-18y° 18. 4x" —16x° +16x?
sy Ullay AN R AX)
X(X-BXxAS) 0 gq OB rz) A2 R)

19. x*-7x*-18 20. x™=3x-16x+48 21. 25x°-36

(Y32 . Y Hx=2) —1e(3-2) NEEET (it
(e EH2) (x-aYtY02) -
Solve the following by factoring: ' :
22. x3=5x2’ 23. x3+7x2J—9x—63=0 | 24. 16x* ~1=0
Y 2-S%2= YXADARAN)ZO Ax-\Yuxr D=0
KHx2)= 9 (Y=o

DEe, 5 AR CEERE .

25. 3x° +15x =18x° 26. y5~-3y“i"—16y+48=0 27. 10x* -3x* ~4x=0
2x5-\Dx 2uSx =0 34(\:5’5) (Y=o 2(lox®2x ~4) =0

2k (X ey EY=0 (P-toXy-2) = o X

2x (X =SYXEN=0 (g Yy YD =0

Applicattons: (you may ulator) Y‘j - ta‘) fQ-L) %—\ |

28. From 1987 to 2003, the number of indoor moi{ie screens M in the United States can be modeled by
the equation: M =-11.07° +267t* =592t + 21600  where t is the number of years since 1987.

a) How many indoor movie screens were there in 19987 20, F54 <creens
X & Tace >\ fox. -

v ace = w&@ﬁ@ Never™

b) When were there 50000 movie screens
4= soooo "




30, B -5 +4x-6)+(2x=3) g3

32, Fone of the fac




38 My =8x" — 63 — 2%y + 6

-2 1
9‘1419.

My = 2x* + 57 — 5y — sy + 3

40 -

42 gly) = PRI o SR
~5,+{

M opwr=xt—a? - iy 43

-2 2+]3z

39 gy=2* 43—ty g
.._l) | —1ix W+
A

)

41 =243 — 6t -+ 4
i
—-9,+ t/4
9.] a) Vo

43 gy =xt —oxd 4 23 — 81y + 128

A3 3¢

45 L =2t et v g

"l) -lé_) tL

Use a graphing calculator to graph the function. ldentify the xintercepts
and points where local maximums or local minimums ocour.

46 Hxi= 3 — 9y 41
¥-wrs o -3, A et
a1, 1) mine (1,78
48 glxy= ~dyt 4 o2

g - . %2%,0,2 .53

max - (-2,4Y,(3,4)
v (5,0)

47 Hix)= ——’-,\" + v — %
X< ’é—;\
mox {10)

™IN (‘“1)_ 3§

49 fixy =25 — 62+ Oy

Y-mts e -1.F%06,1-73
max: (-1.33,0) , GFF 440)
MIN ¢

State the maximumn number of turns in the graph of the funcﬁol(. B ?q_z “4-4(05 , (': _1!-3 , 0 )

50 fivi=xt 420341 51

%

Avi= —3xi +42 — v+ 5 4

rixy = 28 41

L 5

List the possible rational zeros of the function using the rational

Zero theorem,
53 S =xt— 6y 82— 71

41, £ 2,73, £7)

54

Blx) =2x% + Tv2 — Ty + 30

(owstang : 1, Z,3,5, 15,20

{eadh = L, 2
' 0
Possibe: + 1, %3 £3,13 ig{:tsjig,, ©,
:Ush)j:‘["i"\,-tg'o



' 'j_doqne that has rmm! cmfﬁchms, L

ss -, 2J' ‘ o
i )(%+4K -—~l’)x—4%’

i _s&"posub%emmalzemof_
63. ﬁu\m ) 'jmaxh—!ﬂ 7:2+9;u30°

@







